BEFNI-A(71REER)

BlIAE 1-4

O[T )7 HE REEHETS V(SRR CHADGE

=

SJARA-B-0,Q0% S 1 =

= =

% [ (C Rl 75 nl = i IC g

H ] el (C IRT IC 30 1

B 2N 4 53

Me 2 2 k) 4

10 10

a a
Eg 6

¥ R-AEO0.-0%0,E

- N B < N B =

ICICﬁlClCIUZ

s ic J8 L E

& F:_? &

30

2 8

¥

] =
= §>>§>
' ool fHB 2
T —~ I — v —
* % il c B ¢ B s
B 5
o B 2 H
= 40
)

AR ERDH o= T8A TH%

ETCEI5I%& 20,160m 16,610m 16,910m 14,660m

N X VAV

i ke +RUKET 10,500m

skl 9,660m  6,110m  6,410m  4,160m

X ERETLL—IEETLESAOERERE S (EBE)TY, &

O=ET)7RE FERAETSV(SERB CHADEE

¥

5
B E » Eid ﬁ 7 [ K jg >
|4 w @ s g »© Jg
IC - 30 51%
o a &
20
2
3 e
=]
=]

seamem [
G
v

SEIENE B
(35 BR-%]

GEE)
v
S

[ B3]

oim K
\4
(o8

[P & 3]

O m

E
" - 2 ©-B6 L
i ? ;
53 i 3
% 5 e

30

)

FABA FERDH =] THA THKR

P 18,520m 14,590m 15,900m 12,960m
ETCRBING Ty ) B (B
RSAT /XX

s FEEe+RYKET 9,000m (#ii)

chrgshol 9,520m 5,590m 6,900 3,960m

X EBEFAL—ER LS A OBBABNE (BES) TT, .@



BEFNI-A(71REER)

QOUEIYFRE MEREST (AR CHENES

p =
& B

IMmmow
o i 5

[P BF—3]

@ UNTU7RE FERAETSV(SABCHADEES

.

Mmmw
SWEH
S E®
[$ 8]

v
(S35

v

[$ & BROH]

[BFR—~3]

=
5|
IC

sa@mm Bl
o

[CY))|

¥

s B
o3 H

[BFE—Z] V¥

A

v

v
Saramn B

[P @mH -]
(=5 —3]

b= e
g
St IC

H
1
B
i

v

\4

v

RN ©

[z —38]

v

GEED

CWOE [Y

kEs B

SBENE [
GEE3

(SEBF-FH] Vv

o

P

\Y%

(BR-F]

&5 Dt fik ol

(T8 BFH -]

v

w sy (g

SH@

2 a
JA-BrQ*QA.0»
# [ = B = R 4
~ r~ A ~ ~
IC%IC IC%
10 10 10 1
8 & a2 g

MAE EHDH &+A

(5

THA

S 1

w St (g

=

ETCEIZ|I#& 17,350m 14,430m 13,770m 12,1508

RSA TR
hEFERM

9,350m 6,430m

X ERBETIVLIL—IEEFLESEOERER M (F
HKAMOEREEDOBITHREEEENTBYEL A,

2 (5]
S M, B = » A £ B
= a7 [ I 2
ic [ S - g B
L (C % *
1 1
B B
A A
20 =
)

FMAR SEEHDH 1T H

rEHe+RYKET 8,000R

5,770m

» K
i
ol =
Ll
B
i

=P

4,150m

CBE)TY

w e (g

g=F)

ETCEIZI®& 17,740m 13,220m 15,120m 12,430m

RFSATRR
ShiEzFEh!

8,240m 3,720mH

TR e +EYKET 9,500R

5,620m

2,930m

HEBETIIL—MEEALESAOEEERE S (EBE)TT, &




BEFNVa-A(Z=EHiEE) % FEEFAA—MEEFLBEOBEERNE (HED)TT,
® FLTur%E XFIurRiidsy crimoss

188 g 288

¥

1] 2] 3] 4|
.ﬁ.§%>{r§>ﬁ§>
W N = [ 0 = £ ki H I N = B t (414 H 8] (B537)
B0 ¥ B0 5 2 E:HFH~U WO 5 E 2
1 b 2 ® 5 B o s 1 FIFE B B-RE)DH
5 8 e 2 8 B
20 40 ETCHRBEIB| ¥l & 5,950mH
a a
N GRS+ RUKET
BN 2 4,900
ShEFEkY | 1,050m
M/ % - =5 =]
o XF1urRE BlrurBlidsy crmosa
188 288
1B
o SR g 5 e
N . A=A, M*£ . @ m . & B » E3
H H:ZH_ HE_ & 4 - I ChieLoa) (B3A)
9 s % ©@ s W@ ¥ » & 2 % 0 5 K
2 35 50 40 é FIAHB HwE(L-B-HE)DH
5 o) g ®# 8 )
B = ETCthkEEIZI M4 6,210
o BENS+RURET
e e 4,900r
chEHER | 1,310m
OLETIPRE B BIsy crE0sA
188 = 288
m o W
Ji'\jtjt ,/m%g»;g“j»
2 2l B B N 2 8 b e = B Uk ) (F452)
M - = & F Bz W 50 2
40 i 5 = 40 45 FAB KB -8 -RB)DOH
R 2 - 2 8
; ETCHhEZIZ M4 4,410m
NN BERS +RUKET
RSATIRZE & 3.300m
hEFHR | 1,110m
@ EATu»RE LETURBlISY cRRDSEA
188 288
g a8 %
1| bz A
& > [N Jé A > B = > % H > RS
A 5 = B =3 B H 4 H B o
g @ 2 © 5 E : x5 H - B S 28 (Biid)
1 20 = 30 IC 51# FIFAR HRB(E-B-HB)DH
i 8 B2 =
o 25 ETCIRB 5| ¥ % 4,570m
2 2
N N BERS + RUKET
RSATRRES 3.300m
ShEFER | 1,270m





